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201 Yer 2yl 1,160 19,289 A 18,129
p 580
= 580
01 At 22t 1,160 19,289 A 18,129
oINSy 1,160
p 580




SN BAXD
i M=o SAHOZMHIA M2
CHRl: AP ZHZCIXH 2 (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
< 580
307 @I2+0| ™ 20,000 20,000 0
pJ 10,000
[= 10,000
05 QI2tRELZ 20,000 20,000 0
ow=Auze T2 X 20,000
pJ 10,000
[= 10,000
308 XXISHHISO0I® 2,352,878 2,249,984 102,894
p 1,969,576
[= 383,302
01 AXSHHBAEERZ 2,352,878 2,249,984 102,894
O%=d gwAuze N 2,352,878
pJ 1,969,576
[ 383,302
AL ERES (g2 (=20) 172,000 177,250 A5,250
) 122,000
[= 50,000
201 L2 A 2,000 0 2,000
) 1,000
[= 1,000
01 At2 221 2,000 0 2,000
OaLlgdaRE of g2z 2,000
pJ 1,000
[= 1,000
307 @12+0| & 98,000 100,000 A2,000
pJ 49,000
[= 49,000
05 Q12 EHZ 98,000 100,000 A2,000
OZN AL ZEE (ofgrzel 98,000
J| 49,000
[= 49,000
308 XHXISHMI SO0l & 72,000 77,250 N5,250
pJ 72,000
01 HXSHHBAEEZ 72,000 77,250 A5,250
OBHA AL EZEE o2 45,000
pJ 45,000
OSIAHASR L ZAIZA 82D 27,000
pJ 27,000
OLET - &4 olg2el(=21) 60,000 33,600 26,400
pJ 50,000
[= 10,000
308 XHXIEHMI SO0l & 60,000 33,600 26,400
pJ 50,000
[= 10,000




SA: BAFMY
M Me2 P02 HHIA K2
SOl AMEOIZ N MHpHH & (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &F o4 il i~ o HRs2
01 XX SHZASES 60,000 33,600 26,400
OOIET| - &4l o2zl 60,000
p 50,000
= 10,000
OISHAE HALAAY X (2D) 60,000 60,000 0
| 50,000
= 10,000
308 XIS 01 & 60,000 60,000 0
| 50,000
= 10,000
01 A SHBASES 60,000 60,000 0
OOIS - AW FHABAAY XS 60,000
p 50,000
= 10,000
oy HAPAME SYXA(2D) 768,800 768,800 0
| 384,400
= 384,400
307 01240/ & 768,800 768,800 0
| 384,400
= 384,400
05 DI29IEt 2 768,800 768,800 0
OZAE HALAME 2 768,800
p 384,400
= 384,400
DZES MASAME 29 X(2D) 549,360 549,360 0
| 457,800
= 91,560
308 XX I S0 & 549,360 549,360 0
| 457,800
= 91,560
01 KXISHH B A2 ES 549,360 549,360 0
OHZS MASBAMEH 29 549,360
| 457,800
= 91,560
UDSALHEH 22 N/(2D) 243,180 229,320 13,860
| 202,650
= 40,530
308 XX I S0 & 243,180 229,320 13,860
| 202,650
= 40,530
01 A SHZALEES 243,180 229,320 13,860
OYDES NHMEH 29 243,180
| 202,650
= 40,530
s FARANE 2% N 112,000 112,000 0




SN BAYHD
HE: D2 PABAUIA M
SRl AMEOIYE HEa M Y (2o &2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES Off &k il i~ o Hn=2
308 X+XIEHAI S 0I & 112,000 112,000 0
01 X SHBAEES 112,000 112,000 0
oMoz eIl X 76,000
ORANLT2IY 2 2,000
Sy3 Z20Y 29 24,000
=QIXI 022l (2 D) 501,734 483,534 3,200
o] 418,112
= 83,622
308 XHXIEHHIS O 501,734 483,534 13,200
| 418,112
= 83,622
01 X SHZABES 501,734 483,534 3,200
OXIH EJIZTY X2 85,424
| 71,187
= 14,237
OXIMWXIZ22IHI (%A S) Xg 344, 124
o] 286,770
= 57,354
OXIN-ol AtdlZel N 72,186
| 60, 155
= 12,031
AARH22lY 2Y 5,760 5,760 0
308 XHXIEHHI SO ® 5,760 5,760 0
01 XIS B EES 5,760 5,760 0
OXIHEEAZA 22| ALY 5,760
Qe o2 N (2D) 1,274,400 1,274,636 £236
| 1,062,000
= 212,400
308 XHXIEHHI S 0| ® 1,274,400 1,274,636 £236
| 1,062,000
= 212,400
01 RSB ES 1,274,400 1,274,636 £236
Xt ol ZHl X 1,274,400
o] 1,062,000
= 212,400
WOl R 22l (2D 45,887 0 45,887
| 45,887
308 XHXIEHHI SO 45,887 0 45,887
)| 45,887
01 X SHBAEES 45,887 0 45,887
OTHIte & T2 2] 45,887
)| 45,887
o ZIIATAY(2D) 930,000 1,113,618 183,618
| 775,000




SH: EARMY
M Me2 P02 HHIA K2
SOl ANHOIL N R A =g (SR
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 O A+ 24 il i~ o HRs2
< 155,000
308 XHXI €I S 01 & 930,000 1,113,618 A 183,618
g 775,000
= 155,000
01 X SHIABES 930,000 1,113,618 A 183,618
CERESIEFS 930,000
p 775,000
= 155,000
NS HE Ap2lA | (2D) 176,000 180,000 A4,000
| 83,000
= 83,000
307 BI2+0|H 176,000 180,000 ~4,000
o] 83,000
= 83,000
02 QABABE 176,000 180,000 ~4,000
O AAME 2| X 176,000
p 83,000
= 83,000
87 - UXAWSX A=Y (2D) 1,344,827 1,365,055 £20,228
| 1,120,689
= 224,138
308 XHXIEH A S 01 & 1,344,827 1,365,055 £20,228
| 1,120,689
= 224,138
01 KIS B A 2 X3 1,344,827 1,365,055 £20,228
087 - UXSHEX AR X 1,344,827
g 1,120,689
= 224,138
HHS AP (SAZHUDY) 44,340 54,685 £10,345
g 2,400
= 41,940
ol 2| 10,800 19,200 8,400
y 2,400
= 8,400
229 o2y X2 8,400 16,800 8,400
101 21218 8,400 16,800 8,400
02 JIEtE 4 8,400 16,800 8,400
OBEEAN B BSAHTY| 8,400
2L FE ALY F7(27) 2,400 2,400 0
| 2,400
101 1248 2,400 2,400 0
p 2,400
02 JIEHE &4 2,400 2,400 0
OMBHES O|AVSASTAZ B2E X 2,400




SA BAY Y
A HE2AZH(2AF D)
cHel: ol 2o (s & &
- _ o AT
SN -3 S2ARAH) - MFAY - BES Off aF o4 Ofl At ot Husz
[ O] 2,400
Jl23l 33,540 35,485 A 1,945
SN2 J123| 33,540 35,485 A 1,945
201 ety 24,900 26,015 AT, 115
01 At 23,900 25,015 A1,115
OFMEE AtR2telt] 23,900
02 332 1,000 1,000 0
oOFNMEd 55234l 1,000
202 ol 8,640 9,120 A480
01 2UH0IHI 8,640 9,120 A480
FA2E Ao 8,640
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